Algebra Il with Trigonometry
Ch 1 Practice Test (1.1-1.9) SHOW ALL WORK!!!
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e. None of the Above

. —6-24i b. 18+10i

. The expression (=2 +6i)—(3+4i) is equivalent to:

-3+bi -3 -4

. -5 4 2i d. —6+24i e. None of the Above

. Use the discriminant to determine the number and nature of the solutions to: 2x* +4x — 3=0

16 -HaY-3) b+t <

2 Real solutions b. 1 Real Solution ¢. 2 Imaginary solutions d. None of the above

. 2 Real solutions

. If the discriminant of an equation is -4g9, then the roots (solutions) are:

0 Imaginary solutions  C. areal solution  d. None of the above

6. Solve by factering: x* —64 =0
(e+3Yx-3)=0
-8 B

g 8, -8 e. None of the above
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. None of the above




8. Solve by using square rootsﬁx—3)zé9

3223 x=3

e. None of the above

10. Solve the following equation by factoring: 2x* -7x—4=0

(XX -4)= 0
Yy

-
a. -2,1 C. 2,1 d. E,—4 e. None of the Above
—bh+lpt—
11. In the quadratic formula x = bt j dac , b* —dacis called the
a
a) denominator b) real root. discriminant. d) imaginary root e) None of the Above

12. The zeros of a function are the same asthe -7 -.

a) vertex

¢) y-intercepts d) none of these




>x' +6x-7
13. Graph the system of inequalities on the given axes: yox y
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15. Solve for x by the following methods: 3 a S ‘

a. x2=225=0 (squareroots) b. x*-3x-4=0 (quadratic formula) ¢ 6x*4+7x-5=0
st (factoring)




16. Given the function f{(x)=2x3~8x+6, answer the following:
a. Find the vertex:

b. What is the axis of symmetry?

c. Does it open up or down?

d. Construct the graph..make sure to include vertex, axis of symmetry, 2 points to the left and right of
vertex...

&

o)
&“‘l_
3O
L %

c. Does it open up or down?

d. Construct the graph..make sure to include vertex, axis of symmetry:
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18. The height “h” (in feet) of a volleyball after "t” secondsis given by /= ~16" +30¢f +6. Whatis the
maximum height that the volieyball reaches, and after how many seconds does this occur?

20.0635 ™ in 3375 seC

19. You own a rectangular lot that measures g meters by 6 meters, but want to expand it to twice the
original area by adding the same distance "x" to both the length and the width. Write and solve an
equation to find the value of x that accomplishes your goal, plus give the new dimensions of the newly
expanded lot.

x#415%+54 =108




20. Simplify:

a.

F

(2-3i)=+ (5+21) 3

w 6430245 _3
no (16430250 (A=S1)(2 .g.g,)




